P

Milking Solutions

LG

ulsameter 2: Parts Explosion - Illustration -
Abbildung - Illustratie - I[lustracion

‘ Dwg | MS No ‘ Corr. Description
02 612599 PUL2B02MS MS Lower Frame Section Complete Blue
02 612600 PUL2002MS MS Lower Frame Section Complete Orange
03 612603 PUL2B0O3LMS MS Upper Frame Section Left Blue
03 612601 PUL2B0O3RMS MS Upper Frame Section Right Blue
03 612604 PUL2003LMS MS Upper Frame Section Left Orange
03 612602 PUL2003RMS MS Upper Frame Section Right Orange
05 612605 PUL2B0O5MS MS Coupling Nut 55 x 2mm Blue
05 612606 PUL2005MS MS Coupling Nut 55 x 2mm Orange
08 612607 PUL2S08MS MS Clamp Lock S/S
10 612608 PUL2C10MS MS Tipping Measuring Pan No Tube
11 612609 PUL2C11MS MS Sample Taking Canal & Spring
12 612610 PUL2B12MS MS Nut M40 x 3mm Blue
12 612611 PUL2012MS MS Nut M40 x 3mm Orange
13 612612 PUL2S13MS MS Washer id 42 x od 65mm S/S
14 612648 PUL2B14MS MS Sensor Prox Pulsameter (4m Cable) Blue
15 612614 PUL2B15MS MS Flange Blind Complete Blue
15 612615 PUL2015MS MS Flange Blind Complete Orange
17 612616 PUL2N17MS MS Rubber Tube od25mm x id13mm x 200mm
18 612617 PUL2B18MS MS Cleaning Valve Complete Blue
18 612618 PUL2018MS MS Cleaning Valve Complete Orange
19 612619 PUL2B19MS MS Valve Only Blue
19 612620 PUL2019MS MS Valve Only Orange
20 612621 PUL2B20MS MS Coupling Nut 40 x 3mm Blue
20 612622 PUL2020MS MS Coupling Nut 40 x 3mm Orange
21 612623 PUL2S21MS MS Retaining Ring
22 612624 PUL2S22MS MS Circlip A28
25 612625 PUL2S25MS MS Tappet Assembly Complete with Seal
27 612626 PUL2B27MS MS Control Tap Rinsing Valve Blue
27 612627 PUL2027MS MS Control Tap Rinsing Valve Orange
28 612628 PUL2B28MS MS Coupling Nut 70 x 2mm Blue
28 612629 PUL2028MS MS Coupling Nut 70 x 2mm Orange
29 612630 PUL2B29MS MS Sample Taking Unit Complete Blue
29 612631 PUL2029MS MS Sample Taking Unit Complete Orange
31 612632 PUL2B31MS MS Valve Cap for Cylinder Pin Blue
31 612633 PUL2C31MS MS Valve Cap for Cylinder Pin

33
34
35
36
N/A

612634
612635
612636
612637
613672

PUL2C33MS
PUL2S34MS
PUL2S35MS
PUL2S36MS
PUL2C97MS

43, Drybridge Street, Monmouth NP255AD
email: info@milking-solutions.co.uk
web: www.milking-solutions.com

MS Sample Taking Bottle

MS Fixing Console Complete
MS Shaft Tipping Measuring Pan
MS Safety Screw

MS O Ring, Sampler plate

5\@
6

14

17 —

=—/_f7

29 31 32

27 26

30—

12 33—L
21 uf:v_//é 23

R

19 2& 24



http://www.milking-solutions.com/

	Pulsameter 2: Parts Explosion – Illustration – Abbildung – Illustratie – Ilustración

